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USWA COLLEGE ISLAMABAD
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English — 9t
Time Allowed: 60 min Marks: 60

Name Father’s Name Roll No.
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Note: All parts are to be answered on the question paper itself. Deleting/overwriting is not allowed. Do not
use lead pencil.

Q1. Rearrange the words to make sentences. 5)
1. helps/ the poor/ run / a shop / he/.
il. Copes with/ the /with/ dignity /challenges/ a / leader/all/ true.

iil. the / please / not /do / on / spit / floor.

v. at /looking/straight/ he said/he/ her / the / that/ couldn’t help her.

V. have / whom / talked / you/ to/ ?
Q2. Change the voice. Q)
1. Who was knocking at the door?

1i. Where is your luggage searched by police?

1il. Zip them up.

iv. The street is being swept regularly by the sweepers.

v. He should do his assignment in time.




Q3. Write a letter to your friend convincing him to study “computer sciences” keep in view the

significance of it in the current century.

(08)

Q4. Change the following into indirect narration:

1. John said, “I will solve this puzzle.”

®

ii.  The teacher said, “Haven't you attended the class today?”

iii.  Peter said, “Can you help me doing my project?”

iv. He said to me, “What a beautiful art!”

QS. Provide the correct form of the verb to the bracketed grammatical items.

1. Everybody (look) very happy today.

(06)

il. Jerry does not (has) an extra pen.

iii.  (Have) your son cleared the test?

iv. It (rains) since morning.

V. She (work) well yesterday.

vi.  I(be) going to the mosque when I saw him.

Q.6. Define the following literary devices with examples:

Personification

(C))

9th

Hyperbole

Alliteration

Imagery

Assonance




Q7. Read the following paragraph and answer the questions given below: &) Q9. Write an essay on ONE of the following topics in about 100 words.
a. The Secrets of Happiness b. Education (10)
The reading habit has been a great help in developing knowledge. But today in an age when browsing the

internet, playing with mobiles and passing non-stop SMS seem to be the order of the day, T.V and films fill the

mind of the younkers. We have to think about it seriously as to how the growing generation can find time to

read. While technology is taking control steadily over individual lives, so the reading habit is fast vanishing

into thin air.

Questions:

i.  What has the reading habit been?

ii.  What seems to be the order of the day?

111

iv.  What is taking control over the minds of the younkers?

v.  Why is the habit of reading vanishing?

vi.  What is the paragraph about?

Q8. Translate the following paragraph into Urdu: (t))

Punctuality refers to the habit of human beings completing their tasks on time. It is apositive habit which

surely leads to success. All people have twenty four hours at theirdisposal. Some complain that they have

no time; some say that they have a lot of freetime. Some leave their work incomplete and blame that they

could not find enough time.We should learn time management in our lives.




Time Allowed: 1 Hour

USWA COLLEGE ISLAMABAD
Entry Test - March 2024

Maths — 9t

Marks: 60

Name

Father’s Name

Roll No.

Centre Signature of the student

Note: All parts are to be answered on the question paper. Deleting/overwriting is not allowed. Do not use
lead pencil. Calculator is not allowed.

Q.No. 1

i)

Vi)

vii)

viii)

Fill in the blanks by choosing correct option: 10)

Multiplicative inverse of does not exist.

A)0.2 B)0 O)1 D)-1
The value 0.0002635 has non-significant figures.
Al B)2 03 D)4
N625+25%5 is equal to
\N625+5
A)1l B)5 O) 10 D) 25
Share of father and mother is of the property.
1 1 1 1
A) — B) — C) - D) —
) p ) 2 ) 2 ) 5
{x/xe Anxg B} means
A) AUB B) AN B C) A-B D) B— 4
The product of («/;+ «/Z)(«/; —\/3) is equal to
A) a+b B) a-b C) a’ - b D) a’>+ b’
3,1,%,%, ........ the next term of the sequence is:
1 1 1 1
A) — B) — C) — D) —
) 21 ) 27 ) 81 ) 243

A linear equation in two variables always represents a :
A) Straight line B) Triangle C) Quadrilateral D) Curve

When (x, y) is rotated 90° about origin in clockwise direction the new coordinates are:

A) (x,y) B) (—x,—y) O) (-y.x) D) (y,—x)
A secant line intersects the circle at points.
A) One B) Two C) Three D) Four

Q.No. 2

1.

Section — A

Solve all the questions. Each question carries equal marks. (6 x 5=30)
The area of a square lawn of a school is 42025 m?. If you complete 3% rounds of a square lawn.

How much distance you travelled?

Find the profit on Rs. 10000 for 30 months @ 12% per annum.



1il.

1v.

If U={x/xe ZA-3<x<5}, A={-1,0,2} and B={-3,-11,3,5} then verify that

(AuB)' =ANB

Find quotient and remainder when dividend is x* +2x—17 and divisoris x—2

V.

V1.

If a =41 and d=3,then find a

Area of circle and its sector are 100 cm* and 50 cm? respectively. Find the central angle
subtended by the sector.



Section — B
NOTE: Attempt all these questions. All questions carry equal marks.
1 1

Q.No.3 Solve the following simultaneous equations _Z x+-y=1;

3

12 of 20

2x10=20
2 3

—x——=y=2
3 5 y (10)

Q.No.4

Construct a parallelogram when two diagonals are 6.3 cm and 3.4 cm long and the angle
between them is 60°. (10)



USWA COLLEGE ISLAMABAD (1) During a floor grinding and polishing repairs in your house, the fuse blows when the operator start

Entry Test - March 2024 his heavy machine. He wants to replace a fuse by a piece of wire. Would you agree? Give reasons
Science — 9t
Time Allowed: 30 min Marks: 30

for your response.

Name Father’s Name Roll No.
Centre Signature of the student
. . . 0
SECTION — A (1)  Why stepping of high heeled shoe hurts more than a flat shoe?
Q1. MCQs (Choose the correct option) 10)
1. The SI unit of current is:
a. Coulomb b. Volt c. Ohm d. Ampere
2. The electric device which melts if current exceeds a certain fixed value are
o i . (ii1))  Can a convex mirror produce a real image of an object?
a. Circuit breakers b. Fuses c. Copper wires d. Earth wires
3. When light enters from air to water it :
a. continues its path in a straight line b. bends towards normal
c. bends away from the normal d. reflects totally
4. The SI unit of buoyant Force is :
(iv)  You cannot neutralize the effects of wasp sting with Calcium Hydroxide. Give reason.
a. Pascal b. Newton c. Buoyancy d. Pressure
5. Which acid is used in car battery?
a. HCI b. HNO3 c. CH3:COOH d. H2SO4
6. Photosynthesis in green plants is:
a. Synthesis b. decomposition c. Combustion d. Endothermic
o ) o o (v) Write a balanced chemical equation for the reaction between methane and oxygen.
7. An element has three electrons in its outermost shell. In which group of the periodic table it is likely

to be found?

a. Group 1A b. Group I1A c. Group IITA d. Group O

8. The chromosomes are chemically composed of:

a. DNA and carbohydrates b. DNA and Proteins

) . . (vi)  Write three properties that make gold suitable for making jewellery.
c. Proteins and Lipids d. DNA and Lipids

9. The basic unit of structure and function of nervous system is:

a. Nerve b. Brain c. Neuron d. Spinal Cord

10. The process which consumes carbon dioxide and produces oxygen is:

a. Respiration b. Combustion c. Photosynthesis d. Fossilization
(vii)  What is the significance of peripheral nervous system?

Section — B

Q2. Attempt all questions, each carries 2 marks.




Section — C

10 e L S 8 A
Q2. Long question. ()

Explain image formation by concave mirror.

ot



*

Sty

05

_in}ﬁvﬂd/ﬁdﬁd)@d/&%r(tﬁwﬁ)

L

Sl el Si 3 YA

Sin Ces

# 7

_u:/b,c«@-'//c;uyﬂuﬂuﬁ%l/ig; 44

L7 f

_Lj:/u:/ﬂ/u;l"?d}@/) -5/:‘Ulr‘

_(j,ﬁ}déy;l/”ﬁ)ﬁ;;lj@,Lﬂ -

-.L‘LL(.}E'J:M»LUIK -y

g AL

IR S (P R

e el o

06
1A

04

05

05

_uf‘q}%uur‘&l“(tgwue’” -6 Jir

9th




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10

